Seat No. :
MC-135
March-2019
B.A., Sem.-V

CC-302 : Economics
(International Economics)

Time : 2:30 Hours]

L. (A) “dericHs Wl dsled AR RUUIR Hizd SRELS.” — Aol

(B)

2. (A)

(B)

MC-135

2l
o R1. FaAL WRRURS HdLAL Rigla-l 2 {la 531
YR [Asey uis 3.
(1) UARRIYRL AMRAL UEA-MHWRAL Rigld AL,
(@) sl (b) &sAR-2AselA (c) ™Mby
(2)  2Uds QAR Rl QRAIAL R AL ARlURAR 2L S,
(@) SR (b) el (c) SRl
(3)  [RuUa vidalel Rigld 20y L.
(a) Hwld b) Rsi$ (c)  sH A
(4) AR QIR A URUUM ©.
(@)  RAYSR AL
(b) ARV A (detlord
(c) USSR
4RedRlAL dzglAL (1) ol Gelloil 47 (2) evalRl 2A3L sl ul 531

[Max. Marks : 70

BRIl ALM ASOUAE B

el ULy

Hield

W.T.O.

Uky

Al

(A AR AL [N Al vl URARL 2ddat YR WTOL 2441 2S1R4L.
AR [Aseu WRis s
(1)  olOGelIA &8l Al sl w1

(a) 3slRs [are (b) Sleed (©)
2) N2 2AUsH UGS UG =5 AAUNARAL 6.

(a) @G3n (b) IMF (c)
(3) 1 oRARL, 19951 1oy ArAl 22AMAL SAUHL A1l &l ¢

(a) G.AT.T. (b) LM.F. (c)
(4) [ AR A2USA, HUAU HUS AL 6.

(@ 2l (b) 45 ()

1

14

P.T.O.



3. (A) [ e FaRedAl aHvRlealadl Rigid oAl 14

(B)

4. (A

(B)

MC-135

2l

YRadAellet (A1 grAL Ale-IRE 2L
YR [Asey uis 3. 3
(1) AHvRleUlbadl Rigld  =oy sl

(a) s (b) weld () ORdldsud
2) (gl Acuil Hidl 24 YRasL gIR1 Y AsSL 201 6 ¢

(a) [ eR (b) dd- (c) <Y &R
(3)  esauuill AHlAL Rugld AR 83 8.

(@)  sPIEl YRR (b) el HREML (©) [saud=Rem
UMURGEL 24 ARl qeil 12d g ? Aulgull qeit-dl 2RAHqEIAL sIRELL 2RI 14

2l

ALl ML AUHEL §R SRelAL Gull 2RIL
YRy [Asey uals 3. 3
(1) el qeudl (&1t AL Rigld Hovol @uidil 244 ©.

(a) AsAdlAriugld (b) GAdlAMiugld  (¢)  Guraiall 2isveL Al
)  @lds rqidl Asiel 2rud ay S dl AMRdEl  sSdRL

(a) ulagn (b) 2450 (c) UHdle
(3)  SleiR i 30U a2l (Al €2 13 = 62 S olsaud 1§ = 72 i, dl 3(aq,

_ g star

(a) AMHA (b) AAHRUA

2



Seat No. :

MC-135

March-2019
B.A., Sem.-V

CC-302 : Economics
(International Economics)

Time : 2:30 Hours] [Max. Marks : 70
1. (A) Comparative cost difference is the cause of the International Trade.” — Critically
examine. 14
OR
Critically examine J.S. Mill’s reciprocal demand theory.
(B) Choose the correct option : 4
(1) Factor endowment theory of International trade is given by
(a) Ricardo (b) Hecksher-Ohlin (c) Pigou
(2) The concept of Income terms of trade is given by .
(a) Viner (b) Ellsworth (c) Dorra
(3) Absolute cost advantage theory was propounded by
(a) Marshall (b) Ricardo (c) Adam Smith
(4) International trade is the outcome of
(a) Political relationship
(b) International division of labour
(c) Co-operation
2. (A) Discuss: 14
(1) Infant Industry and
(2) Employment Arguments in Favour of protection.
OR
Write a note on World Trade Organisation (WTO) and examine the impacts of
WTO on Indian economy.
(B) Choose the correct options : 4
(1) is related with the argument to give protection to the Infant Industry.
(a) Fedric List (b) Hamilton (c) Henry Chals
(2) The eighth round of GATT is known as round.
(a) Uruguay (b) IMF (c) Marshall
(3) What was established on 1% January, 1995 ?
(a) G.ATT. (b) LM.F. (c) W.T.O.
(4) is the headquarter of World Trade Organisation.
(a) Geneva (b) New York (c) Paris
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Explain purchasing power parity theory of exchange rate. 14
OR

Discuss advantages and disadvantages of flexible exchange rate.

Choose the correct options : 3
(1)  The theory of purchasing power purity was propounded by
(a) Nurkse (b) Marshall (c) Gustov Cassel
(2) What can be determined by demand and supply of foreign currency ?
(a) Exchange rate (b) Wage (c) Interest rate
(3) Mint parity theory is valid under
(a) Paper money standard
(b)  Gold standard

(c) Bimetalism

What do you mean by balance of trade and balance of payments ? Discuss the
causes of disequilibrium in the balance of payments. 14

OR

Discuss the remedies for removing imbalance in balance of payment.

Choose the correct options : 3

(1) The balance of payments account is written on the basis of the principle of

(a) Single entry book keeping
(b) Double entry book keeping
(c) None of the above
(2) If the import of physical goods is greater than export, then balance of trade is

(a) Adverse (b) Favourable (c) Balanced

(3) When the exchange rate between dollar and rupee changes from 1$ = 62 to
1$ =72, it results in of rupee.
(a) appreciation (b) devaluation
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